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Dividing Polynomials

11-3


Reteaching
A few important rules are needed for successful division of a polynomial. When dividing by a monomial, a single term, remember to divide each polynomial term
by the monomial and reduce the fraction.
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What is (8x3 ( 3x2 + 16x) (2x2?
Solve
(8x3 ( 3x2 + 16x) ( 2x2
Division equals multiplication by the reciprocal.

= (8x3 ( 3x2 + 16x) • 
[image: image3.wmf]2

1

2

x


Multiply by 
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Use the Distributive Property.
=
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Subtract exponents when dividing powers


with the same base.
=
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Simplify.
Exercises
Divide.
1. (2x2 ( 9x + 18) ( 2x
2. (16x4 ( 64) ( 4x3
3. (x5 ( 3x4 + 10x3 (
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4. (5x3 ( 25x2 ( 1) ( 5x
When a polynomial (many terms) is divided by a binomial (2 terms), the polynomial terms should be in order from highest to lowest exponent.
To make the polynomial (4 + 2x ( 16x2 + 3x3 division ready, put it in the correct order for division, from greatest exponent to lowest. The correct order for (4 + 2x ( 16x2 + 3x3 to be division ready is 3x3 ( 16x2 + 2x ( 4.
For any gaps or missing exponents, the place is held with 0. For example, x2 + 1 becomes x2 + 0x + 1, 0x being the placeholder for the x term.
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Dividing Polynomials

Reteaching (continued)
Dividing a polynomial by a binomial is similar to long division.
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What is (p2 ( 3p + 2) ( (p – 2)?
Solve
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Write the problem as long division.


Ask how many times p goes into p2 (p times). The variables must align by exponent, so the p goes above 23p since both match.

Multiply p times (p – 2). Subtract the product p2 2 2p. Bring down 2.

Determine how many times p goes into (1p ( (1 times). Multiply ((1) times (p ( 2) to get (1p + 2. Subtract the product (1p + 2. There is no remainder.

So p ( 2 goes into p2 ( 3p + 2 exactly p ( 1 times with no remainder.

Exercises Divide.
5. (d2 + 4d ( 12) ( (d ( 2)
6. (y2 ( 4y + 4) ( (y ( 2)
7. (x2 ( 2x + 1) ( (x ( 1)
8. (b2 ( b ( 20) ( (b ( 5)
Prentice Hall Algebra 1 • Teaching Resources

Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.
30
�EMBED Equation.DSMT4���








_1312801223.unknown

_1312801321.unknown

_1312801350.unknown

_1312801449.unknown

_1312801273.unknown

_1311757335.unknown

_1312800958.unknown

_1311757344.unknown

_1311757004.unknown

_1311757007.unknown

